Z -~ Solve the initial value problem by the Laplace transform.
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»n'=-2y+2y, , Y,''=2y,-5y, ,

»n0=1, »'0)=0, »,0)=3, »,'0)=0 [12%]

7% ~ Find the electrostatic potential v =v(r) between two concentric spheres of radii

r= 10 cm and r,=20 cm kept at potentials v;= 260 V and v,= 110 V, respectively.
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— ~ Evaluate -+ -~ Find a general solution.
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A\ ~ Selve by Laplace transform
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3. .[o jx (x+y)'dy dx [6%] Y T oM, wx0)=0 if xz0, w(0,)=0if rz0
[12%]

=+ Find the Fourier transformof f(x)=k if a<x<b, f(x)=0 otherwise.

[10%)]

—

= ~ Find the eigenvalues and eigenfunctions.

YVHAy=0, y(0)+y'(0)=0 , y27)=0 [12%)]

w - Find the area if the vertices are (3, 9, 8), (0, 5, 1), (-1, -3, -3), (2, 1, 4). [6%]




